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The figures ln the tnargln lndlcate
full marks for the questloms.

Answer aflU tlue questiolls .' 5x2O=100

1. 5+7+3+5

(a)

(b)

Prove that the Doppler frequency shift
for a target moving with radial velocity

dR
dt ,s slven by fa =. r(#)l 

^,
where ,?. is the wavelength of the radar.

Draw the block diagram of a CW
Doppler radar with zero IF receiver artd
explain its oPeration.
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6. 7+9+4

(a) Derive the expression of the single delay
line canceller in connection with MTI
radar.

(b) What is meant by blind speeds and
how the problem related to blind speeds
can be minimized using staggered pulse
repetition frequencies ?

(c) In an MTI radar the pulse repetition
freqLrency is 2OOHz and the carrier
transmission frequency is LOAMHz.
Find the first and second blind speeds.
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